
Приложение 3  

САМОСТОЯТЕЛЬНАЯ РАБОТА 

 

Задача 1 

Дано:    ^  АВС                                                Решение: 

/ А =42֯ 

/ В =? В 2 раза больше, чем / А  

 

Найти:  / С                                                      Ответ: 

 

Задача 2 

Дано:    ^  АВС                                                Решение: 

/ А =2 части 

/ В =6 частей  

/ С =3 часть 

Найти: / А,/ В, / С                                           Ответ: 

Задача 3. 

Дано:    / 1,   / 2   - смежные углы           Решение: 

/ 1 =79֯ 

 

Найти: / 2                                                         Ответ: 

 


